MATHSWITHABHINAY CLADSED

o-ordinate

eometry

h

11

What 15 abcissa of (2, 3) ?

fag (2,3) 1 9= B ?

In which quadrant(-2, 3) will be ?
fag (-2, 3) fFs =qufer 9 =m 2

If distance between two point (0, =5) and

(x, 0)1s equal to 13 unit then find x.

afg fag (0, -5) 3R (x, 0) & &9 =1 g0 13 T
B @ x %1 °H N B

(a) 10 (b) +10

(c) 12 (d) +12

Write the polar cordinate of (L \E) .

g (1.V3) % e Frdms T #ifemmy
Find the co-ordinate of a point which divides the join of
(2,-3)and (4, 6) internally in the ratio | : 2.

34 fag & fdwis s %9 s fag (2, -3) 3 (-
4.6) % foeA aell @ w1129 Ha:
HT 2

(a) (8,0) (b) (0,0)
(¢) (3,-5) (d) (4.3)
Find the co-ordinate of a point which @
join of (2, 1) and (3, 5) externally in

(1,4)and (9,-=12)?

fa= (1, 4) 3 (9.
(6. -a]ﬁm

(4, 10) then, find value of k.
afg fag (-8, 13) 3 (k, 7) F uA fag = Fdwn=s
(4. 10) 2, 9@ k%1 9= F0 Bm?

R.W. (Q10to Q19)
10.

Point (-2, 7) will be in quadrant —

fag (-2, 7) fFg =qute & smm?

(a) Ist (b) lind

(c) Ilind (d) IVth

Find the distance between points (a sina , @ cosa )
and (0. 0).

12

13.

14

16

17

18

19

fa=< (asina . acosa ) 3R (0, 0)F == =1 g0 7.
F1
(a) a (b) @

(¢c) asina (d) acos a
Distance between (2a, a) and (—a, =3a) will be

fag (2a.a) IR (-a,-3a) F = 9| =4
(a) 4a (b)

(¢c) Sa

Distance between (a si
sin 0) will be

fa= (asinB, ac
% 70 2
(a) a-J_

(c) 3a

and (a cosb, —a

acosd, —a sin 0) & 94

® (b)af3
(d) 2a

Zm,) and (afz Zah) 1S
urn. Zah m Ci ks ol

N,Hz)\!{r.ﬂzr -4
b) a(t, —1,)(1+1,) +4

@ alty =)y +1,)" -4
(d) none of these

If distance between points (4, 0)and (0, x)1s 5 then x

=9

afz fagaii (4, 0) (0, x) F &9 F1 0 S THE @
qdx =7

(a) 0 (b) 1

(c) 2 (d) 3

Point P divides the join of point (8, 9) and (-7. 4) in
the ratio 2 : 3 internally then co-ordinate of P 1s

fag P fagsd (8, 9) 3 (-7, 4) F1 fyo T
@ #1239 o14: faufea +w@ 2, 7@ fagp=

frden® &2
(@) (<2.7) (b) (2,7)
(c) (7. 2) (d) (<7,2)

In which ratio point P(1, 2) divides the line segment
jomning (=2, 1)and (7, 4) 7

fagai (-2, 1) 3 (7. 4) F1 fae aen @ F:

fag P(1.2) %9 squm 9 fawifom &im?

(@) 12 b)2:1

(c) 3:2 (d)2:3

In which ratio x—axis divides the line segment joining
(2,-3)and (5, 6)?

fagaii (2,-3) 3R (5. 6) 71 fue™ Tl T &1 x—
A9 fF9 squa 9 fawfsa FTm

(a) 1:2externally (b) 2 : 1 externally

(¢) I:2internally (d) 2 : 1 internally

In which ratio y—axis divides the line segment joining
(4. 2)and (8, 3)

fagawi (4, 2) 3R (8. 3) F1 faam et @@ F1 )—
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MATHSWITHABHINAY CLASSES

g f6y suE | fawfsa wam

(a) 1:2nternally (b) 2 : 1 internally

(c) 1:2externally (d) 2: 1 externally
Find the equation of line whose ending points are (2.
3) & (5, 4).

fagatt (2, 3) 3R (5, 4) =1 faeH art @ i
TR0 Td F
Find the slope of line 3y =2x+ 9

@I 3y =2x+ 9 Fl YA F1d FHI

Two points (a +3, b+ k) & (a, b) are on the line x—
2y + 9=0. Find the value of k

afg S = (a+3, b+ k) 3 (a b)T@ x-2y+9
=0 feord 3, 99 k1 99 F19 FI

Find the equation of line which makes an angle 45°

with positive x-axis & passes through the point (5,
7)
IH @ +FT GHH J9 FU S HARTE -39 §

45° F1 F19 461 € 3R fag (5, 7) | et B

[ftwo lines having equation 2y =3x+ 5 & 4y=kx +
|1 are parallel then find the value of k.

a2 & @ 2y =3x+ 5 Ay = kx + 11 TH-TH
% U B, 99 k&1 °E F 2m?

[ftwo lines having equation y=x+ 15 & 4y = kx
|1 are perpendicular then find then value of k.

afg 1 W@l y=x+ 15 3?1'14}'=kt+ 11 TH
orEad 8, 94 k1 " 7 S0

Find the equation of line which is p
Ty = 199 & passes through the poi

39 @ F1 GHH0T F| FU S
% gL g o fag (2, )| |

Find the equation of line whu pendicular to
4x + 3y= 111 and passes (3, 2).
34 @l # @ 4x+ 3y= 111

® oEad 2 2) | T 2

x"gy= 199

If 3x + 2y = 11 y = 22 are coincide lines
find value of &

af Tand | 3 kx + 4y = 22 o1 @
g 212

If 2x
solution.

Az & FEned F1 T 2x + 3y = 122 3R

dx + ky= 1199 #fgdia ga1 wra & €, 99 k&I

Iflinesdx+ 3y=k 2x+3y=12and x+y=>5
are concurrent lines find the value of k.

afs @i dx+3y=k, 2x+3y=123 x+y=5
T, 99 kT HE TG H 4

Iflines3x +4y+9=0& kx + 6y + 41 =0 are
perpendicular then find k.

afg @i 3x+ 4y +9=0 3R kx+ 6y + 41 =0TFH

22 and 4x + ky = 119 have unique
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2l

42

TH % ohEad &, a1 k1 HH 341 20?2

Find the length of intercept between axis of line
3Ix+4y=12
W@ 3x+4y=12 57 SH1 AYG F §19 Fe T F:

TUE FH R 941 B2

Find the area of triangle which 1
lines 8x+ 15y =120, x—axis &

@i 8x + 15y = 120, x
39S 1 49%a 1 @

Find the areaof g ormed by four lines 8x
+ 15y =120, 3x + 4p= 12x—axis & y—axis.

on of line AB 1s 3x + 4y=-24 & equation of
1s 8x + 15y = 120. Find the area of
lateral ABCD.

ABCD &1 &9%d 91d %4 foas fawvi AC
3R BD H991: x-378, 3N y-H& 21 @ AB F
GHIHTI 3x + 4y =—24 3R CD FT THIHT0T 8x +

15y =120 21

Find the area of triangle formed by three lines.
x+y=2 y=x& x-axis

@i x+y=2, y=x 3N x-34 g T = F

qAFA F1 BM?

Find the area of triangle which is formed by three

lines 3x + 4y = 84, y=x & y—axis.

@9 s 3x + 4y = 84, y = x 3 )3 A o

faqs +1 a4a%a B

Find the area of which 1s formed by three lines 3x +

4y =12, 5x+ 8y =40 & x—axis.

& @A 3x + 4y = 12, 5x + 8y = 40 IR x-HH

Find the perpendicular distance from a point (2, 3)
totheline3x+4y+7=0.

fag 2, 3)F @ x+4y+7=09 o=aa g0
&1 Bt 2

Find the distance between two parallel lines whose
equations are 3x+4y+ 12=0& 3x+ 4y-13=0.
T T T x4+ dy+ 12=0 3T 3x+4y—-13=0F

d= &1 g Fa w4

Find the angle between two linesx-3y+ 13=0 &
x+2y-111=0.

@A x-3y+13=03Mx+2y-111=0
A9 1 HIO FT BW?

Find the angle between two linesxsina+ycosa=
p.&xsinfi+ycosp=p..
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MATHSWITHABHINAY CLASSE

@A xsina+ ycosa=p,, A x sin B+ y cos
B = p, T HTUT F1 &2

ABC 1s an Isoceles triangle with AB=AC. D is the
mid-point of BC. E 1s the foot of the perpendicular
drawn from D to AC & F 1s the mid-point of DE.

Then the angle between AF & BE 1s.
faqst ABC & wwfgarg fage %, iS58 AB=AC.

fag D, g BC #1 77 fag 21 fa5 E, 991 ACW
fag D® =t 7T &= &1 9% 21f9 F =1 DE

1 77 fag 2, 7@ AF 3R BE # == i1 2m?
What 1s the equation of line 1s passing through origin.
A= feu U 99 | g fag 9 SH e @ =
THIHOT 1 B2

—x -3 // x-HY

E._I'l_]]

—rl-'-aq-&l
Find the graphof y=x + | x|.

y=x+|x| % @ = § § |0 @ 2

¥ v
& &

I 1T — i / = T
¥ L
_‘ _I,'
[a) (b

— T =1 % k
: l_:r |:Llr
Find the area of shaded regio

= faa o safea am 1 Bm?

\?

(b y=2x
(d) y=2x

(a) y=x
(C) y<—=x
If(p. g). (m, n) (p —m, g —n) are collinear.
find relation between p, g. m & n

afz fag (p. ), (m, n) IR (p - m, q - n) TEA
& p g m AT n ° TN TEY BN

(@) pg = mn (b) mp = nq
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55

58

(c) np =gqgm (d) None of these

If x = 2y + k=0 1s the median of a triangle whose
vertices are (-1, 3), (0, 4), (-5, 2). find the value of k.
AR x -2y + k=0 TF A= =1 Afcasm &1 g
2 foms i (=1, 3), (0, 4) AR (=5,2) &, Tk 0
HH A6 FI

The vertex A of triangle ABC 1s gwen to be (1, 3)

and the medians BE and CF arex— I=0andy
— 1 =0. then the equation of all s fits triangle.

s ABC %1 t% v Tifeawd BE
FARCF & THi= x—2) Ay —1=0.79 1
fagst = T | A FI

Find the co-ordin the circumcentre and

orthocentre of iawle whose vertices are (2, —
4).(64) ).

T TEE S & Hayns 4
(2. —4). (6 —4) 3R (2. -10) T

angle between pair of straight lines
ted by equation 3x* — 111xy=3y*=0.

3x2 = 1llxy—3)* =01 Y=f¥a g9 are
@3 & 99 HT K0T T S

x>+ y* = 25 is equation of a circle, find the radius
and 1ts centre.

Ifz fordt g9 F1 THEHW 12+ )2 =25 7, ° TH!
o= it = F s 9@ 0

Find the equation of circle whose centre 1s (2, 3) &
radius 1s 5.

39 g9 F1 FHIH0 F6 4 59H w5 (2, 3) 3R
s 2

Ifx* +y* + 6x + 8y + 11 = 0 1s the equation of a
circle, find its centre and radius.

3% {5l 39 1 T X+ )2+ 6x+ 8y + 11 =
0%, 7@ TWF F= & s 3R = I F=
If two points (x, 5) (4, 3) are on the circumference

ofa circle if the centre of the circle 1s (2, 3) .find the
value of x.

afz 1 fag (x, 5) 3R (4, 3) TF 99 F1 iy W
ford €, a1 99 & &= ® FRwF (2,3) 2 @@
x &1 °HE A F

Find the foot of the perpendicular in the below
figure.

= feu o fa3 F o= F g =1 fEwE =
2

Al (4., 6)

Jx + 4y= |1
v D(h, k) -

Find the area quadrilateral formed by joining points
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1Q 28 'Ii-f:[,
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1 ST RIRR) N ke g W =
VN (e Permy 3, . A=Y +2 =o
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1. a 3 6| g3 3f A 3o
; o' T -
12, Sa 6. | 4% b 3. %72 = (O;0)
T =9
3. afi LR DU T\ (e~ < .
-. P Y S ~M~tY~)a =
14 . Q Kh“*h}f“’ct"rh)l*ﬂr 39, 30 d3] AL d 0
) 3 3 S 1 (3,~4)
< g.
S = [Vl
L. (Qr?) do. § _
5[3 A= o
G V(3= W) 4, ologg
18 Vi (o B ; Sde (hp)'= U,2)
9\! @-: Bha{
15 1 (dTey Rrower 11G74) 4y
e K=Y+ 3 =, | 5
2, m= 2
@ 2 44 . H: Ay,
=3 e
3. F= N+9 L N
24 ¥=b l




